. How to order
© @ ©

(2]
©
1]
o
c
2
e
Q
=
»n

TN - |PC|-[10] - |M5|

(DPad series (2)Pad diameter / Code No (@ Screw size

PC PC series 2A 90 112 M3

PE PE series 10 100 | 114 M3F %
PB/PD/PF 15 101 116 M5

PF PH/PJ/PN 20 102 | 122 M5F *
PR series 25 | 103 | 123 Mé

PH PH series 30 104 | 130 M8

PK PK series 35 107 | 6710 M10

PKM PK series 50 108 M12
PN PN series 65 109 Note) * are made to order
PR PR series

Refer to outline drawing for combination of 1), @ and 3

l Dimensions (mm)
012 0175
| |
[ I Seal washer
o i Seal washer @ i
s i 034
025 ]
M5X0.8 ym M6X 1.0 | 0
7| N | e
/ !_ <
| D) Yy o | o ©
i 3 ! S
A < | =
? | o '
<¢ ' ™
i Hexagonal width across 4 /"[
05 015
TN-PC-10-M5 TN-PC-30-M6
Applicable pad PCG—10,715,/18,/20 Applicable pad PCG—30,740,760
17.
[0} [ 5 © 626
N
‘ |
o [ Seal washer i Seal washer
039 639
|
— 57 ;
M8X 1.25 ‘ -
| N | -
} - M12X1.25 !
N i
/ ‘ N w0 ' 8 g
A N |
/) | .
/ |
H | /, | 2 I : u
exagona g
width across 4 // ! Hexagonal /'|
width across 6
015 02
TN-PC-30-M8 TN-PC-90-M12
Applicable pad  PCG—30,740,/60 Applicable pad ~ PCG—90

498



TN

Dimensions (mm) (7))
c
13 o
~p
! oy (@)
] 026 S
Mex10 — o)
; © | Q)
Flat across 14 i © | o,
i (7]
f H [ee]
| Q M5x0.8 ! ©
. Qo L
I 0
3 Hexagonal width across 3 06
610
616 TN-PF-10-M5
TN-PE-35-M6 Applicable pad PFG—10
PEG—10
Applicable pad PEG—35 PEG—12
025
| 025
M5X%0.8 |
! |
| i
- o M5X0.8 I
| > |
i »
! o~ ' -
Hexagonal / A-F o~
width across 3 _ - Hexa
gonal
68 width across 3 //¢‘1 1
TN-PF-15-M5
TN-PF-20-M5
Applicable pad PFG—15, PJG—10/15, PRG—12.5 _
PEG—15X45 Applicable pad PBG—20, PDG—20, PFG—20
PJG—20,25, PNG—121, PRG—32
¢3
3
, |
M6 1.0 | |
! M6x 1.0 |
| o o | .
L < . -
1 - I [is}
! — =
| |
" ;
Hexagonal ! “ | N
width across 3 = Hexagonal i
width across 4
011
' 620
TN-PF-25-M6
Applicable pad PBG—30,/40, PDG—20,/30,/40, PFG—20B,/25/ TN-PF-50-M6
30,/35,/40, PHG—30,/45, PJG—30,35/40 Applicable pad ~ PBG—50, PDG—50
PEG-30x 50 PFG—50, PJG—50

499



TN

(7]
o
©
Q.
c
o
l;
o
>
2]

Dimensions (mm)
$3.9
}
MBX 1.25 |
|
| o
: o= 020
] MI0X1.25 9105
A -H o - R ~ gj <|
Hexagonal 7 =i
width across 4 -
020 024 e
TN-PF-50-M8
Applicable pad  PBG—50, PDG—50  TN-PHE5M10
PFG—50, PJG—50 Applicable pad PHG—65,790
M10x 1.5 M10X 1.5
< _ o e 0
) ] e = E Pt
:7:: :jH,777 2 <
] 65
7.5
6
19 8
235
TN-PKM-30-M10 TN-PK-100-M10
Applicable pad PKMG-30/30T/40/ Applicable pad PKBG-50/60/80/110
40T/50T PKMG-50M/60/60T/75/75T/
85K/100/100K/100T

500



TN

Dimensions (7))
c
- M12%1.75 '?"
M10X 1.25 . —F 3
o Y —— [ -—-H3d 9
& j:] P | < g B | N | I 0 g ©
—| o I . M — Q
s — o
0 ] (7))
1116
12 6. 325
185
TN-PK-100-M10F TN-PK-100-M12
Applicable pad PKBG-50/60/80/110 Applicable pad PKBG-50/60/80/110
PKMG-50M/60/60T/75/75T/85K/ PKMG-50M/60/60T/75/75T/
100/100K/100T 100/100T
M16X1.5 013
Seal washer | o
' !
o e ] !
= - —-—E— 8 M6 X 1.0 !
- ! ©
17H e o
11 6.5 ! ] ol =
|
26.5 ) M12X 1.5 ~ | o
TN-PK-6710 ;
Applicable pad PKBG-50/60/80/110 | o
PKMG-50M/60/60T/75/75T/ 17H A [ L
100/100T !
TN-PN-101-M6
Applicable pad PNG—101
Seal washer — N 013
Seal washer
! !
M6X 1.0 ! [
© 03 12H
= 2 2 N
17H

M6X1.0

'
1
!
I
M12x 1.5 L) ©

l

|

|

|
17H T

N

12

8
21
1.2
\K\\‘W\&
\M
6
2

N |
08
TN-PN-102-M6 TN-PN-103-M6
Applicable pad PNG—102 Applicable pad ~ PNG—103

501



TN

(mm)

1) Dimensions
kS
013
(o} Seal washer Mi0x 125 < 025 24H
c 2 7 :
o : i 3 o~
B 03 12H 2 !
> = | 5
N ' | S
M6X 1.0 ;'k ' © - 3
’ o
A | 2 o~ |
a4 Q = =)
7 I_ o :
-4 r - T
Z]
; 06
06
o 17
TN-PN-104-M6 TN-PN-107-M10
Applicable pad  PNG—104,7106,/110,/111 Applicable pad  PNG—107
¢ 12
Seal washer
M10X 1.25 625 24H {
1 !
1 i ¥ - o
i =
= i 10H
© 1.5
| o 015
- ¥ Q& w
n 3 M5X0.8 I ©
: AT Yo
U
e @) A r-‘ [so]
= i imi
635
017
TN-PN-109-M5
TN-PN-108-M10 Applicable pad  PNG—109
Applicable pad  PNG—108
12
%13 ~ 0
- Seal washer
| %
T |
N
= 63 12H 015
M5x0.8 |
_ © | o
M6 X 1.0 ¢ 1) ~ h—
45 o { J o
Y « I 2
| o T
V| —t Ll 10H %
| 1
o7 $3
TN-PN-112-M6 TN-PN-114-M5
Applicable pad  PNG—112 Applicable pad PNG—114
PEG—8

502



TN

Dimensions
012
o Seal washer
|
]
025
|
M5x0.8 N
‘il 0
| N
4 » o
ia L-Ir \ o
12H
05
TN-PN-116-M5

Applicable pad

Seal washer

PNG—116,7117,/125

12

13

10H

0.9

02

084

TN-PN-123-M5

Applicable pad

M5x0.8

012
|

PNG—123

|

10H

25
32

re-

l

al I I IR

TN-PR-15-M5

Applicable pad PRG-9.5X25
PRG-15X30

(mm)
013
Seal washer | N
M6X 1.0 !
i ©
% j > o~
17H ! —
| “°
M12X 1.5 LJ ©
|
| 0
! =
17H |
TN-PN-122-M6
Applicable pad PNG—122
N 012
|
Ii Seal washer
$2.5
M5x0.8 *
| 0
! [ ) Y
| 12H 2
>
i o
>
o7
TN-PN-130-M5
Applicable pad ~ PNG—130A,130B,131
32
M5x0.8 8H
71
H w0
H \ N
o o
/f <
| N ii
|
04
06
TN-PS-10-M5

Applicable pad

PBG—10A /15A
PCG—5/7

PAG—10A /15A/20A/10B,/15B,20B

PFG—5A /6A/8A/10A/15A

PJG—6.8

Fitting parts PS—5A,/6A/8A/10A

503

2]
c
T
<.
o
=
©
Y
Q.
»




TN

(72]
©
1]
Q
c
2
e
Q
=
n

. Dimensions

M5 x 0.8 (depth 6)

8H M3Xx0.5
| o
~ ! | 55H
A !
| L [ee]
! 0
e
2]
TN-PS-10-M5F 03
Applicable pad  PAG—10A /15A,/20A/10B,/15B,/20B
PBG—10A,/15A TN-PS-2A-M3
PCG—5/7 Applicable pad  PFG—1.5A /2A,/3.5A
PFG—5A /6A,/8A,10A,/15A PJG —d :
PJG—6,8
M5x0.8 (depth 6)
|
i —
; 5.5H
i
' ©
— [ee]
P
'
i 10
R
¢,
03
TN-PS-2A-M3F
Applicable pad PFG—1.5A 2A/3.5A
PJG—4

504

(mm)





